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Ve AL R

EFRAS R H S
20224 1 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.040 0.005 &
LA i 1.512 0.000 - 0.639 0.067 =
/L4, (HCI) 4.545 0.029 - 0.410 0.131 =
mIbE (HF) 0.306 0.003 - 0.083 0.032 s
— &b (SO2) 15.147 0.000 - 5.278 1.380 =
—4& kbR (CO) 7.578 0.000 - 0.114 0.022 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.782 - 5.533 1.449 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.008 0.005 &
LA 0.756 0.034 - 0.122 0.067 =
Z/LE (HCI) 0.756 0.102 - 0.230 0.130 s
wAbE (HF) 0.072 0.028 - 0.035 0.032 s
— &b (SO2) 3.789 0.920 - 1.669 1.374 =
—&Ei% (CO) 3.789 0.004 - 0.044 0.022 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.979 - 4.025 1.459 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575x 10°° <5.547 x 1010 =
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EFRAS R H S
20224 1 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.030 0.006 &
LA i 1.512 0.003 - 0.849 0.076 =
/L4, (HCI) 4,545 0.000 - 0.332 0.142 =
mIbE (HF) 0.306 0.000 - 0.077 0.039 s
— &b (SO2) 15.147 0.007 - 3.062 2.189 =
—4&bi% (CO) 7.578 0.001 -0.113 0.053 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.469 - 6.150 1.322 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.010 0.006 &
LA 0.756 0.022 - 0.163 0.076 =
/L4, (HCD 0.756 0.044 - 0.278 0.142 =
wAbE (HF) 0.072 0.026 - 0.049 0.039 s
— &b (SO2) 3.789 1.630 - 2.512 2.187 =
—&Ei% (CO) 3.789 0.030 - 0.078 0.053 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.853 - 2.381 1.326 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 107 <5.384 x 1010 =
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EFRAS R H S
20224 1 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.070 0.002 &
LA i 1.512 0.009 - 0.384 0.072 =
/L4, (HCI) 4.545 0.040 - 0.238 0.161 =
mIbE (HF) 0.306 0.000 - 0.066 0.039 s
— &b (SO2) 15.147 0.102 - 2.804 1.731 =
—4&bi% (CO) 7.578 0.026 - 0.225 0.075 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.006 - 2.886 1.401 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.005 0.002 &
HEA T 0.756 0.035 - 0.099 0.073 =
/L4, (HCD 0.756 0.131-0.203 0.161 =
wAbE (HF) 0.072 0.034 - 0.041 0.039 =
— &b (SO2) 3.789 1.457 - 1.969 1.722 =
—&Ei% (CO) 3.789 0.049 - 0.128 0.077 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.159 - 1.607 1.409 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575x 10°° <5.977 x 1010 =
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EFRAS R H S
20224 1 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.087 0.009 &
LA i 1.512 0.029 - 0.671 0.085 =
/L4, (HCI) 4,545 0.000 - 0.238 0.139 =
mIbE (HF) 0.306 0.000 - 0.075 0.036 s
— &b (SO2) 15.147 0.000 - 5.949 1.672 =
—4&bi% (CO) 7.578 0.000 - 0.161 0.060 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.565 - 10.584 1.309 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.006 - 0.026 0.009 &
LA 0.756 0.047 - 0.176 0.086 =
Z/LE (HCI) 0.756 0.098 - 0.176 0.139 s
wAbE (HF) 0.072 0.027 - 0.039 0.035 s
— &b (SO2) 3.789 1.066 - 1.980 1.677 =
—&Ei% (CO) 3.789 0.035 - 0.092 0.060 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.748 - 1.730 1.314 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575 x 10°° <5.988 x1020 &
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